Chapter 2 Problem 46 |

Solution
Find the displacement vector of the fly in the room.

The position of the fly at point b in unit vector notation is
b={4.0i+157+25k}m
The position of the fly at point e in unit vector notation is

{1.07+457+05k} m
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The displacement of the fly in the room between points b and e is

displace = & —b={1.001+4.5j+ 05k} —{4.0i+ 15+ 25k}

displace = {(1.0 —4.0) i + (45— 1.5) j+ (0.5 — 2.5k} = {=3.0i 4+ 3.0 j + —2.0 k}

The magnitude of this vector is.

displace = \/(—3.0)2 + (3.0)2 + (—2.0)2 = 4.69 m

Assume the numbers are good to 2 significant figures, the magnitude of the displacement is 4.7 m.
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